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9999----qÓL$p¡Zrdrs_p qÓL$p¡Zrdrs_p qÓL$p¡Zrdrs_p qÓL$p¡Zrdrs_p D`ep¡ND`ep¡ND`ep¡ND`ep¡N 
k„L$g_ : fS>_uL$p„s ku. QphX$pk„L$g_ : fS>_uL$p„s ku. QphX$pk„L$g_ : fS>_uL$p„s ku. QphX$pk„L$g_ : fS>_uL$p„s ku. QphX$p    

ApQpe®îu - îu dyfgu^f dpÝerdL$ ipmp 
v$pspf fp¡X$, Sy>_pNY$. dp¡. 94274 12231 

 
� ApV$gy„ kdÆA¡ A_¡ epv$ fpMuA¡ :ApV$gy„ kdÆA¡ A_¡ epv$ fpMuA¡ :ApV$gy„ kdÆA¡ A_¡ epv$ fpMuA¡ :ApV$gy„ kdÆA¡ A_¡ epv$ fpMuA¡ :    

• qÓL$p¡Zrdrs_p¡ D`ep¡N MNp¡mip÷, c|Np¡m s¡dS> 
_p¥L$pe_ S>¡hp„ A_¡L$ n¡Óp¡dp„ \pe R>¡. 

• âÐen dp`_ rh_p rhrh^ hõsyAp¡_u JQpB s\p 
s¡d_p A„sf ip¡^hp dpV$¡ Aæepk L$fuiy„. 

• Ö[ô$f¡Mp :Ö[ô$f¡Mp :Ö[ô$f¡Mp :Ö[ô$f¡Mp : r_funL$_u Ap„M\u r_funZ l¡W$m_p `v$p\® 
ky^u g„bph¡g f¡Mp_¡ Ö[ô$f¡Mp L$l¡ R>¡. 

• n¥rsL$ f¡Mp :n¥rsL$ f¡Mp :n¥rsL$ f¡Mp :n¥rsL$ f¡Mp : r_funL$_u Ap„Mdp„\u _uL$msp A_¡ 
©̀Õhu_u k`pV$u_¡ kdp„sf f¡Mp_¡ n¥rsS> f¡Mp L$l¡ R>¡. 

• DÐk¡^L$p¡Z :DÐk¡^L$p¡Z :DÐk¡^L$p¡Z :DÐk¡^L$p¡Z : Ö[ô$f¡Mp A_¡ n¥rsS> f¡Mp\u b_sp¡ M|Zp¡ 
S>¡dp„ r_funZ l¡W$m_p¡ `v$p\® n¥rsS> f¡Mp\u D`f lp¡e. 
A\p®s¹, A¡hu [õ\rs L$¡ Äepf¡ `v$p\®_p r_funZ dpV$¡ 
dõsL$_¡ KQy„ L$fhy„ `X$¡. 

 
 
 
 
 
 
 
 
 

• Ahk¡^L$p¡Z :Ahk¡^L$p¡Z :Ahk¡^L$p¡Z :Ahk¡^L$p¡Z : Äepf¡ r_funZ l¡W$m_p¡ `v$p\® n¥rsS> 
f¡Mp\u _uQ¡ lp¡e, Ðepf¡ Ö[ô$f¡Mp A_¡ n¥rsS> f¡Mp\u 
b_sp¡ M|Zp¡. A\p®s¹, A¡hu [õ\rs L$¡ Äepf¡ `v$p\®_p 
r_funZ dpV$¡ Ap`Ï„ dõsL$ _uQ¡ _dphhy„ `X$¡. 

 
 
 
 
 
 
 
 
� DÐk¡^L$p¡Z A_¡ Ahk¡^L$p¡ZDÐk¡^L$p¡Z A_¡ Ahk¡^L$p¡ZDÐk¡^L$p¡Z A_¡ Ahk¡^L$p¡ZDÐk¡^L$p¡Z A_¡ Ahk¡^L$p¡Z 
    
    
    
    
    
    
 
 
 Al] b¡ kdrnrsS> f¡MpAp¡_u R>¡qv$L$p AC Üpfp 
b_sp M|Zp ∠ACB A_¡ ∠XAC kdp_ R>¡.             

(Q eyÁdL$p¡Z). Ap\u tbvy$ C _¡ kp ¡̀n `v$p\® A _p¡ 
DÐk¡^L$p¡Z s\p tbvy$ A _¡ kp ¡̀n `v$p\® C _p¡ Ahk¡^L$p¡Z 
kdp_ R>¡. 
� A„sf A_¡ KQpB_p âí_p¡_p S>hpb d¡mhhp.A„sf A_¡ KQpB_p âí_p¡_p S>hpb d¡mhhp.A„sf A_¡ KQpB_p âí_p¡_p S>hpb d¡mhhp.A„sf A_¡ KQpB_p âí_p¡_p S>hpb d¡mhhp.    

• fL$ddp„ Ap ¡̀g dprlsu dyS>b ApL©$rs v$p¡fhu. 

• ApL©$rs_y„ rhhfZ L$fhy„. 

• fL$ddp„ Ap ¡̀g dp`_u epv$u L$fhu. 

• ip¡^hp_p (Aops) dp` dpV$¡ ^pfhy„. 

• fL$ddp„ Ap ¡̀gp„ dp` s\p ip¡^hp_p dp` dpV$¡ 
qÓL$p¡Zrdsue NyZp¡Ñfp¡_u dv$v$\u NZsfu L$fhu. 

❖    fusfusfusfus----1111    ❖    
Ex. 1 S>du_ `f A¡L$ V$phf rifp¡g„b [õ\rsdp„ R>¡. s¡_p 
`pep\u 15 duV$f v|$f fl¡gp S>du_ `f_p A¡L$ tbvy$\u 
V$phf_u V$p¡Q_p DÐk¡^L$p¡Z_y„ dp` 600 R>¡, sp¡ V$phf_u 
KQpB ip¡^p¡. 
 
 
 
 
 
 
 
 

∆ABC L$pV$L$p¡Z qÓL$p¡Z R>¡. 

∆ tan 600 = 
AC

AB
 

∴ 
15

3
AB=  

∴ AB = 315  duV$f ← Ans. 
Ex. 1 _u fus¡ v$pMgp NZp¡._u fus¡ v$pMgp NZp¡._u fus¡ v$pMgp NZp¡._u fus¡ v$pMgp NZp¡.    
(1) 1.5 duV$f KQpBhpmp¡ A¡L$ r_funL$ A¡L$ Qud_u\u 

28.5 duV$f v|$f Ec¡g R>¡. s¡_u Ap„M\u Qud_u_u 
V$p¡Q_p DÐk¡^L$p¡Z_y„ dp` 450 R>¡. Qud_u_u KQpB 
L$¡V$gu li¡? 

(2) hphpTp¡X$p_p L$pfZ¡ A¡L$ TpX$ A¡hu fus¡ cp„Nu_¡ hmu 
Åe R>¡. S>¡\u s¡d_u V$p¡Q S>du_ kp\¡ 300 dp`_p¡ 
M|Zp¡ b_ph¡ s¡d S>du__¡ õ`i£ R>¡. TpX$_u S>du__¡ 
õ`i®su V$p¡Q A_¡ TpX$_p \X$ hÃQ¡_y„ A„sf 8 duV$f 
lp¡e, sp¡ TpX$_u KQpB ip¡^p¡. 

(3) A¡L$ `s„N S>du_\u 60 duV$f_u JQpB `f DX$u flu R>¡. 
Ap `s„N_u v$p¡fu_p¡ A¡L$ R>¡X$p¡ nZcf dpV$¡ S>du_ `f_p 
A¡L$ tbvy$ kp\¡ bp„ ¡̂g R>¡. Ap [õ\rsdp„ v$p¡fu_p¡ S>du_ 
kp\¡_p¡ Y$pm 600 R>¡. Å¡ v$p¡fudp„ L$p¡B Y$ug _\u s¡d 
dp_u g¡hpdp„ Aph¡ sp¡ v$p¡fu_u g„bpB ip¡^p¡. 

P Ap„M 

Q R `v$p\® 

n¥rsS> f¡Mp 

← Ö[ô$f¡Mp 

← Ö[ô$f¡Mp 

A 

B C 

n¥rsS> f¡Mp 

X 

AB = V$phf 
BC = 15 duV$f 
∠ACB = 600 ← DÐk¡^L$p¡Z 

A `v$p\® 

↑ 
n¥rsS> f¡Mp 

C Ap„M 

← Ö[ô$f¡Mp A 

B C 

V$phf 

600 

15 duV$f 
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(4) A¡L$ W$¡L$¡v$pf_¡ bpmL$p¡_¡ fdhp dpV$¡ bNuQpdp„ b¡ 
g`kZu gNphhp_u R>¡. Ap dpV$¡ s¡ 5 hj®\u Ap¡R>u 
Jdf_p bpmL$p¡ dpV$¡ S>du_\u D`f_p¡ R>¡X$p¡ 1.5 duV$f 
fl¡ A_¡ S>du_ kp\¡ 300 _p¡ M|Zp¡ b_ph¡ s¡hu A_¡ 
s¡_p\u h^y Jdf_p bpmL$p¡ dpV$¡ 3 duV$f KQpB\u 
ku^p¡ Y$pm lp¡e s\p S>du_ kp\¡ 600 _p¡ M|Zp¡ 
b_phsu lp¡e s¡hu g`kZu `k„v$ L$f¡ R>¡. sp¡ b„_¡ 
g`kZuAp¡_u g„bpB ip¡^p¡. 

 
❖    fusfusfusfus----2222    ❖    

Ex. 2 S>du_ `f_p A¡L$ tbvy$ P \u A¡L$ 10 duV$f KQu 
Bdpfs_u V$p¡Q_p¡ DÐk¡^L$p¡Z 300 R>¡. Bdpfs_u V$p¡Q `f 
A¡L$ ÝhS> afL$phhpdp„ Apìep¡ R>¡ A_¡ tbvy$ P \u Ap 
ÝhS>õs„c_u V$p¡Q_p¡ DÐk¡^L$p¡Z 450 R>¡. sp¡ ÝhS>õs„c_u 
g„bpB s\p Bdpfs\u tbvy$ P _y„ A„sf ip¡̂ p¡. 

( 732.13 = ) 
AB = ÝhS>õs„c, BC = Bdpfs_u KQpB = 10 duV$f 
∠APC = 450, ∠BPC = 300 

∆BCP L$pV$L$p¡Z qÓL$p¡Z R>¡. 

∴ tan 300 = 
CP

BC
 

∴ 
CP

10

3

1 =  

CP = 10 3  duV$f 
 
 

❖ fusfusfusfus----3333 ❖ 
Ex. 3 k|e®_p DÐk¡^L$p¡Z_y„ dp` 600 \u OV$u_¡ 300 \sp 
kdsg S>du_ `f Dc¡g V$phf_p `X$R>pep_u g„bpBdp„ 40 
duV$f_p¡ h^pfp¡ \pe R>¡. sp¡ Ap V$phf_u KQpB ip¡^p¡. 

AB = V$phf 
CD = 40 duV$f 
∠ACB = 600 
∠ADB = 300 

 
 
 
 
∆ABC L$pV$L$p¡Z qÓL$p¡Z R>¡. 

∴ tan 600 = 
BC
AB

 

BC

AB=3  ∴ BC = 
3

AB
....... (1) 

∆ADB L$pV$L$p¡Z qÓL$p¡Z R>¡. 

BD

AB=030tan   
CDBC

AB

+
=

3

1
 

∴ BC + CD = AB3  

BC + 40 = AB3  

BC = 403 −AB  ........ (2) 

`fuZpd (1) A_¡ (2) kfMphsp 

403
3

−= AB
AB

 

∴ 3403)403(3 −=−= ABABAB  

∴ 2AB = 40 3  

∴ AB = 20 3  ← Ans. 

∴ tbvy$ P \u Bdpfs_y„ A„sf = 10 3 duV$f 
∆ ACP L$pV$L$p¡Z qÓL$p¡Z R>¡. 

∴ tan 450 = 
CP

AC
 

310
1

BCAB +=  

∴ AB + BC = 10 3  

∴ AB + 10 = 10 3  

∴ AB =  10 3  - 10 

= 10 ( 3 -1) 
= 10 (1.732-1) 
= 10 (0.732) 
∴ AB = 7.32 duV$f (ÝhS>v„$X$_u g„bpB) 

Ex. 3 _u fus¡ NZp¡. 
(5) S>du_ `f Aph¡g A¡L$ tbvy$\u 20 duV$f KQu Bdpfs_u 
V$p¡Q `f fl¡gp A¡L$ k„Qpf V$phf_p smuep A_¡ V$p¡Q_p 
DÐk¡^L$p¡Z_p dp` A_y¾$d¡ 450 A_¡ 600 R>¡. sp¡ 
V$phf_u JQpB ip¡^p¡. 

(6) 1.6 duV$f KQu A¡L$ ârsdp A¡L$ KQu b¡W$L$ `f 
Np¡W$h¡g R>¡. S>du_ `f_p A¡L$ tbvy$\u ârsdp_u V$p¡Q_p 
DÐk¡^L$p¡Z_y„ dp` 600 A_¡ b¡W$L$_u V$p¡Q_p 
DÐk¡^L$p¡Z_y„ dp` 450 R>¡. sp¡ b¡W$L$_u KQpB ip¡^p¡. 

Ex. 4 A¡L$ 80 duV$f `lp¡mp dpN®_u b„_¡ bpSy>A¡ kdp_ 
KQpB_p b¡ õs„c rifp¡g„b [õ\rsdp„ R>¡. dpN® `f hÃQ¡ 
Aph¡g L$p¡B A¡L$ tbvy$A¡\u b„_¡ õs„c_u V$p¡Q_p 
DÐk¡^L$p¡Z_p„ dp` 600 A_¡ 300 S>Zpe R>¡. sp¡ v$f¡L$ 
õs„c_u KQpB ip¡^p¡ s\p b„_¡ õs„c_y„ r_funZ tbvy$\u 
A„sf ip¡^p¡. 
 
 
 
 
 
 
 
 
 
AB = ED = õs„c_u JQpB = ? 
m∠ACB = 600 
m∠ECD = 300 
CD = ?, BC = ? 
∆ABC L$pV$L$p¡Z qÓL$p¡Z R>¡. 

A 

C P 

450 300 

B 

A 

B C 

300 600 

V$phf 

D 

300 

E 

D B 

A 

|               80 duV$f              | 
C 

600 
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BC

AB=060tan   
BC

AB=∴ 3  

3

AB
BC =∴  .......... (1) 

∆ CDE L$pV$L$p¡Z qÓL$p¡Z R>¡. 

CD

ED=030tan  

CD

AB=∴
3

1
 

ABCD 3=∴  .......... (2) 
`qfZpd (1) A_¡ (2) _p¡ kfhpmp¡ L$fsp„ 

AB
AB

CDBC 3
3

+=+  

AB
AB

3
3

80 +=  

ABAB 3380 +=∴  

3804 =∴ AB  

320=∴ AB  duV$f Ans. 
lh¡ AB _u qL„$ds `qfZpd (1) dp„ d|L$sp„ 

3

320=BC  

∴ BC = 20 duV$f 
∴ CD = BD - BC 

= 80 - 20 
= 60 duV$f duV$f duV$f duV$f ←←←← Ans. 

Ex. 4 _u fus¡ NZp¡._u fus¡ NZp¡._u fus¡ NZp¡._u fus¡ NZp¡.    
(7) _l¡f_p A¡L$ qL$_pfp `f V$uhu_p¡ V$phf rifp¡g„b Dcp¡ 
L$fhpdp„ Aph¡g R>¡. V$phf_u kpd¡_p buÅ qL$_pfp `f 
fl¡gp A¡L$ tbvy$\u V$phf_u V$p¡Q_p¡ DÐk¡^L$p¡Z 600 R>¡. 
V$phf_p smuep A_¡ r_funZ tbvy$_¡ Å¡X$su f¡Mp `f 
Aph¡g A_¡ r_funZ tbvy$\u 20 duV$f v|$f buÅ A¡L$ 
tbvy$\u V$phf_u V$p¡Q_p DÐk¡^L$p¡Z_y„ dp` 300 R>¡. 
V$phf_u KQpB A_¡ _l¡f_u `lp¡mpB ip¡^p¡. 

(8) V$phf_p smuepdp„\u `kpf \su f¡Mp `f smuep\u 4 
A_¡ 9 duV$f v|$f Aph¡gp b¡ tbvy$\u V$phf_u V$p¡Q_p 
DÐk¡^L$p¡Z_p dp` R>¡. sp¡ kprbs L$fp¡ L$¡ V$phf_u 
KQpB 6 duV$f R>¡. 

(9) v$qfep_u k`pV$u\u 75 duV$f KQu v$uhpv$p„X$u `f\u 
Ahgp¡L$_ L$fsp„, v$qfepdp„ fl¡gp b¡ hlpZ_p 
Ahk¡^L$p¡Z 300 A_¡ 450 dpg|d `X$¡ R>¡. Å¡ A¡L$ 
hlpZ buÅ_u bfpbf `pR>m lp¡e A_¡ b„_¡ hlpZ 
qv$hpv$p„X$u_u A¡L$ S> bpSy> `f Aph¡g lp¡e, sp¡ b„_¡ 
hlpZ hÃQ¡_y„ A„sf ip¡^p¡. 

(10) A¡L$ kyf¡M dpN® V$phf sfa Åe R>¡. V$phf_u V$p¡Q `f 
fl¡g A¡L$ ìe[¼s, V$phf sfa AQm TX$`\u Aphsu 
A¡L$ dp¡V$fL$pf_p Ahk¡^L$p¡Z_y„ dp` 300 _p¢ ¡̂ R>¡. 6 
k¡L$ÞX$ `R>u Ap L$pf_p Ahk¡^L$p¡Z_y„ dp` 600 \pe 
R>¡, sp¡ L$pf_¡ V$phf ky^u `lp¢Qsp„ L$¡V$gp¡ kde gpNi¡? 

Ex. 4 _u fus¡ NZp¡._u fus¡ NZp¡._u fus¡ NZp¡._u fus¡ NZp¡.    
(11) 100 duV$f `lp¡mp dpN®_u bpSy>A¡ kdp_ KQpB_p b¡ 

õs„c rifp¡g„b [õ\rsdp„ R>¡. dpN® `f hÃQ¡ Aph¡g 
A¡L$ tbvy$A¡\u b„_¡ õs„c_u V$p¡Q_p DÐk¡^L$p¡Z_p dp` 
600 A_¡ 300 S>Zpe R>¡. sp¡ r_qfnZ tbvy$_y„ _ÆL$_p 
õs„c\u A„sf A_¡ v$f¡L$ õs„c_u KQpB ip¡^p¡. 

Ex. 5 rdî v$pMgprdî v$pMgprdî v$pMgprdî v$pMgp    
 A¡L$ V$phf_p smuep\u A¡L$ Bdpfs_u V$p¡Q_p 
DÐk¡^L$p¡Z_y„ dp` 300 R>¡ A_¡ Bdpfs_p srmep\u V$phf_u 
V$p¡Q_p DÐk¡^L$p¡Z_y„ dp` 600 R>¡. Å¡ V$phf_u KQpB 50 
duV$f lp¡e sp¡ Bdpfs_u KQpB ip¡^p¡. 
 
 
 
 
 
 
 
 
AB = Bdpfs, CD = V$phf = 50 duV$f 
∠ACB = 300, ∠BDC = 600 
∆BCD L$pV$L$p¡Z qÓL$p¡Z R>¡. 

BC

CD=060tan  

BC

50
3 =  

3

50=∴ BC  

∆ABC L$pV$L$p¡Z qÓL$p¡Z R>¡. 

tan 300 = 
BC

AB
 

3

503

1 AB=∴  

50
3

3

1 AB=∴  

∴ 50 = AB.3.3  
∴ 50 = 3 AB 

∴ AB = 
3

50
 duV$f 

Bdpfs_u KQpB ← Ans. 
Ex. 5 _u fus¡ NZp¡. (rdî)_u fus¡ NZp¡. (rdî)_u fus¡ NZp¡. (rdî)_u fus¡ NZp¡. (rdî)    
(12) 7 duV$f KQu Bdpfs `f\u A¡L$ L$¡bg V$phf_u V$p¡Q_p¡ 

DÐk¡^L$p¡Z 600 A_¡ V$phf_p srmep_p¡ Ahk¡^L$p¡Z 
450 R>¡, sp¡ V$phf_u KQpB ip¡^p¡. 

(13) _v$u `f fl¡gp ỳg_p A¡L$ tbvy$\u _v$u_p b„_¡ 
qL$_pfp_p Ahk¡^L$p¡Z_p dp` A_y¾$d¡ 300 A_¡ 450 
dpgyd `X$¡ R>¡. Å¡ _v$u_u k`pV$u\u ỳg_u KQpB 3 
duV$f lp¡e sp¡ _v$u_u `lp¡mpB ip¡^p¡. 

D 

A 

B C 
300 600 

Bdpfs 
V$phf 
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(14) A¡L$ blydpmu Bdpfs_u V$p¡Q `f\u Ahgp¡L$_ L$fsp„ 
A¡L$ 8 duV$f Bdpfs_u V$p¡Q A_¡ smuep_p 
Ahk¡^L$p¡Z_p dp` A_y¾$d¡ 300 A_¡ 450 dpgyd `X$¡ 
sp¡ blydpmu Bdpfs_u KQpB s\p b¡ Bdpfs hÃQ¡_y„ 
A„sf ip¡^p¡. 

 
❖ dlphfp_p v$pMgpdlphfp_p v$pMgpdlphfp_p v$pMgpdlphfp_p v$pMgp ❖ 

(1) h duV$f KQu Bdpfs_u V$p¡Q `f\u S>du_ `f_u 
hõsy_p Ahk¡^L$p¡Z_y„ dp` θ S>Zpe R>¡. sp¡ Bdpfs\u 
hõsy_y„ A„sf duV$fdp„ S>Zphp¡. 

(2) S>du_ `f_p tbvy$ P `f\u V$phf_u V$p¡Q_p 
DÐk¡^L$p¡Z_y„ dp` 450 R>¡. Å¡ tbvy$ P A_¡ V$phf 
hÃQ¡_y„ A„sf a A_¡ V$phf_u KQpB b lp¡e sp¡ a A_¡ 
b _p dp` kfMp li¡ L$¡ _p_p dp¡V$p? 

(3) 3 duV$f gp„bu A¡L$ _ukfZu_p¡ _uQ¡_p¡ R>¡X$p¡ v$uhpg\u 
1.5 duV$f v|$f fl¡ s¡ fus¡ v$uhpg `f V$¡L$hu R>¡, sp¡ 
r_kfZu S>du_ kp\¡ L$¡V$gp dp`_p¡ M|Zp¡ b_ph¡? 

(4) A¡L$ V$phf_u KQpB 350 duV$f R>¡. s¡_p smue¡\u 

50 duV$f v|$f Aph¡g tbvy$A¡\u s¡_u V$p¡Q_p 
DÐk¡^L$p¡Z_y„ dp` ip¡^p¡. 

(5) V$phf_u KQpB A_¡ s¡_p `X$R>pep_u g„bpB_p¡ 
NyZp¡Ñf 3:1 R>¡, sp¡ k|e®_p DÐk¡^L$p¡Z_y„ dp` 

ip¡^p¡. 
(6) 18 duV$f A_¡ 12 duV$f KQpBhpmp b¡ õs„c_u V$p¡Q 

hÃQ¡ A¡L$ spf bp„^¡g R>¡. spf kdrnrsS> f¡Mp kp\¡ 
300 dp`_p¡ M|Zp¡ b_ph¡, sp¡ spf_u g„bpB ip¡^p¡. 

(7) A¡L$ V$phf_p `X$R>pep_u g„bpB V$phf_u g„bpB L$fsp„ 
3  NZu lp¡e, sp¡ s¡_p¡ k|e® kp\¡_p¡ M|Zp¡ ip¡^p¡. 

(8) 75 duV$f KQp A¡L$ V$phf_u V$p¡Q `f\u A¡L$ NpX$u_p 
Ahk¡^L$p¡Z_y„ dp` 300 R>¡. V$phf\u NpX$u_y„ A„sf 
ip¡^p¡. 

(9) 150 duV$f KQp A¡L$ V$phf_u V$p¡Q `f\u A¡L$ NpX$u_p 
Ahk¡^L$p¡Z_y„ dp` 300 R>¡. V$phf\u NpX$u_y„ A„sf 
ip¡^p¡. 

(10) A¡L$ V$phf_u KQpB s¡_p `X$R>pep_u g„bpB L$fsp„ 
3  NZu lp¡e sp¡ s¡_p¡ DÐk¡^L$p¡Z ip¡^p¡. 

(11) 800 duV$f_p¡ A¡L$ gp„bp¡ ỳg MuZ_p b¡ R>¡X$p_¡ Å¡X$¡ 
R>¡. MuZ_u sm¡V$udp„ ỳg_u _uQ¡ A¡L$ d„qv$f Aph¡gy„ 
R>¡. d„qv$f_u V$p¡Q_p ỳg_p b¡ R>¡X$¡\u dmsp 
Ahk¡^L$p¡Z_p dp` 300 A_¡ 600 R>¡. sp¡ d„qv$f_u 
V$p¡Q_u ỳg_u KQpB ip¡^p¡. 

(12) A¡L$ V$phf_u V$p¡Q `f\u A¡L$ blydpmu dL$p__u V$p¡Q 
A_¡ smuep_p Ahk¡^L$p¡Z_p dp` A_y¾$d¡ 300 A_¡ 
600 R>¡. Å¡ blydpmu dL$p__u KQpB 100 duV$f lp¡e 
sp¡, V$phf_u KQpB ip¡^p¡. 

 
 
 
 

(13) h S>¡V$gu rifp¡g„b KQpB `f DX$u fl¡gp S>¡V$ 
rhdp_dp„\u S>du_ `f fl¡gu b¡ V$¡ÞL$_p 

Ahk¡^L$p¡Z_p dp` ∝ A_¡ β (∝ > β) dpgyd `X$¡ 

R>¡. sp¡ b¡ V$¡ÞL$ hÃQ¡_y„ A„sf 
( )

β
β

tan.tan
tantan

∝
−∝h

 R>¡. 

s¡d kprbs L$fp¡. 
(14) V$phf_p smuepdp„\u `kpf \su f¡Mp `f smuep\u a 

A_¡ b duV$f v|$f Aph¡gp b¡ tbvy$Ap¡\u V$phf_u 
V$p¡Q_p DÐk¡^L$p¡Z_p dp` L$p¡qV$L$p¡Z_p dp` R>¡. sp¡ 

kprbs L$fp¡ L$¡ V$phf_u KQpB ab  R>¡. 
 

❖ S>hpbS>hpbS>hpbS>hpb ❖ 

(1) 30 duV$f (2) 38  duV$f (3) 340 duV$f 

(4) 3 duV$f, 32  duV$f (5) 20( 13 − ) duV$f 

(6) 0.8( 13 + ) duV$f 

(7) V$phf_u JQpB _l¡f_u `lp¡mpB 10 duV$f 310 duV$f  

(8) 6 duV$f (9) ( )1375 −  duV$f (10) 3 k¡L$ÞX$ 

(11) õs„c_u JQpB ( )1325 +  duV$f _ÆL$_p õs„c_y„ 

A„sf 25 duV$f (12) 7 ( )13 +  duV$f (13) 3 ( )13 +  

duV$f (14) blydpmu Bdpfs_u JQpB 4 ( )33 +  duV$f,  

b¡ Bdpfsp¡ hÃQ¡_y„ A„sf 4 ( )33 +  duV$f 
----------------------------------------------------------- 
(1) h cotθ (2) a=b (3) 600 (4) 600 (5) 300 

(6) 12 duV$f (7) 300 (8) 325  duV$f (9) 350  duV$f  
(10) 600 (11) 346 duV$f (12) 150 duV$f 


